EARAROBEEIERT — 2 N— IBISH —F

2013%1288H (H) 12@E%14H

mﬁ&@ﬁﬁﬁﬁﬁmﬁfﬁﬁﬂﬂ C2 ¥7%—##& ‘ (X4l W ‘ (emm] — | & (5) 13000 &
[A&4£] 1% :100,000 ™ ~ 23#&:25000M”  33%&:12,000 M  43%&:8,000H ~ 53 :5,000 M
B ®RBE mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< N R ZIE 125, ~4-4- . — THERE (B
i Al 3YEND 3 2N 1(2_5)2 5-4-4-1 | 39.6 1 (5_075) et
Rixriaqn— BiYLSH hANY— RIS
2,8, 40 KARAE :25. -1-1- . - HETENX (SH)
2 3 =T 4 6 36?3 1(7251:)3 1-1-1-1 | 39.9 2 (5+121) %Eiﬁbtﬁ
Z:nNd B:h=T7YXxTHY ~— 74055
NN . LNk GIN : —-8-7- - =FE— (BH)
slglo | #F /L a0 B4 a2l 1.(256>.4 8-8-7-6 | 40.4 3 (4_756) Eﬁ%%:‘%
X THANAN BXD v RYY FSRRRY=T7—1
s o > FREMER : —6-5- - MAKREE) (FH)
4|55 | rvroTL—2 i 4 i 1(.32/%6 6-6-5-4 | 40.8 7 (4_727) 413114%?
:xA1=Ty— B:NJaT7y hIRY HBET7—L4
s FE . _0_0— _ =RE— (S
sl7lg | ¥>nvsryr7 3 i‘gsﬁz_oﬁ 1.(227).0 9-9-9-3 | 40.8 4 (4_621) ;;gg (@)
LNy &hT71x B:hxRIavTz7— =R77— LA
= = = 27 THEK :27. -3-0- 9| - B ()
6l 6| T7EHNE I P 1<227>4 oEs 4 ° f; (B) 7YX5> b
L:HIRT4 75X By g3 Rg
. RS . -10-10- - RIRFEE] (&)
717l 7171202 6 o 1.(227>.8 10-10-10-10| 41.2 9 (4_558) fg%ﬂg
L:Hosa-Lib B4/ -V N7 7 — L4
FEEE . __o_ _ HAKE ()
8 NEFEEES T 4 3 58 1(.12/72.)9 3-2-2-7 | 42.4 10 :f; /\*?ﬁiﬁ
LT RIAY T 0N BiFLTERA BIR= S
= hFEED :28. -5-5- . — REAR— (FH)
9810 YIRS IO— 47 o 1(12/82)0 4-5-5-8 | 42.2 5 (434) %thg#
74> N=h> )= B:70-FIUNM%ZX PN Y e
JIN— f 6 | BEE 1:28.2 7-7-8-9 [42.1| — | 8 | 462 |EHFME— (FH)
100117V =>=2 54.0 (1) o) | FAHIE
R:TANKTy Y2 BibM4IUy RA—2 HET7— L
® 1 — @B
1T=7r= 3,6,2,10,4,5,1,9,8,7
2a=5F= 3,2,6,4,10,5,1,9,8,7
== 3,(2,6) .4, (5,10),9,1,8,7
41—F— (3,4),8,5,6,9,2,10,1,7
[ /N
B 4 1704 714K 3-4 120H e E 3-4 130M JEE 3-4-9 250M
B B 4 1004 4-9 140H B = 3-4 150H JEE 4-3-9 640M
3 1004 3-9 220M B H 4-3 220M
9 1309

ABICOVWTRDTEEERROODE. TR LIV,




